AB Calculus 3.4 Practice Worksheet

Find the derivatives of each of the following.
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AB Calculus 3.4 Practice Worksheet
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Find the derivatives of each of the following.
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Below is a table of values from two differentiable functions fand g. Use the table to find the

value of each expression below. Show work.

x| f) | x| gkx) | g'()
1| 1 5 -1 -4
2 | 2 1 3 2
3 2 | - 0 1
é[.‘\‘)()(\ 4] 3 3 [ 2 4
9. (/&) 10. A'(2) if h(x)=g(f(x))
£ (DN O* S C\\fs)‘ o' (f) § ‘(2
e iy + 7 a' () ()
~-q -2 (V)
| -
1. Q) if h(x)=g(2x) 12. [?J at x=2
Cb C&K) (_&) '_c' . %.CI -2 (2) —-\(3) —"'l
‘C‘ﬂ (>) 1';:’/ ™ e |
W(2) =9
‘()i =gt V'(4) if h(x =L
13. H'(Q)if H(x)=¢'™ 14. h'(4) if h(x) s
-‘Lﬂﬂ Q‘C‘A) L ) C\’(%)
(n oh bt
Y20 c‘.s_csﬁ Bf =]
2 (5)= S< a*
15. h'(4) if h(x)=2f(x)-3 16. H'(Q2)if h(x)=yf(x)+g(x) = ,
2
2 ! (._D Cs@D + 3(*\)
- YQad (3)
2(-3)= W ($00 DY 2 (£'® 4‘)
—{p
y (arm 2 )
-

ALY



